

کتابت

امیر محمد عروجانی

$$) \quad \frac{\frac{1}{n+1} - \frac{1}{n}}{\frac{1}{n-1} + \frac{1}{n+1}} \rightarrow n \neq -1, n \neq 0 \quad \mathbb{R} - \{ -\infty, \frac{1}{2} \}$$

1) $\sqrt{n-1} + \sqrt{y+1} = 1$
 $n \geq 1$ $y \geq -1$ $\sqrt{y+1} = 1 - \sqrt{n-1} \geq 0 \Rightarrow 1 \geq \sqrt{n-1} \Rightarrow 1 \geq n-1, 1 \geq n$ $\underline{a: [1, 1]}$

$$u) = \frac{\log(u^p - u - r)}{\sqrt{u^p - 1} + 1} \sim, \quad u^p - u - r \geq 0 \rightarrow (u - r)(u + 1) \geq 0 \rightarrow \frac{-1}{-1} \frac{r}{+1}$$

$$u^p \geq 1 \rightarrow u \geq 1$$

$$u \leq -1 \quad \sqrt{u^p - 1} \pm -1 \sqrt{1, 2, 3, 4}$$

$$(-\infty, -1] \cup [1, +\infty)$$

$1 + a - a^2 \geq 0 \rightarrow [-1, 6] \quad a + b = ?$
 $-(a^2 - a - 1) \geq 0 \xrightarrow{-1} 1 + a - 1 = 0 \rightarrow 1 + a \leq 0 \rightarrow a \leq -1 \rightarrow a = -1$
 $-a^2 - \frac{a}{r} + 1 \geq 0 \rightarrow \Delta: \frac{1}{r^2} - 4(-1)(1) \geq 0$
 $[-1, \frac{1}{r}] \rightarrow b = \frac{1}{r} \quad \frac{1}{r} + (-\frac{1}{r}) = 0$

$$(u)_n = \begin{cases} nu - r & ; n \geq 1 \\ nu + r & ; n < 1 \end{cases}$$

$$p_{n+1} \geq n - n \geq -1 \xrightarrow{\Delta} [1, +\infty)$$

امتحان

$$f(u) = \begin{cases} (a+1)(u+1) & ; u > 1 \\ va + v & ; u \leq 1 \end{cases}$$

$$vf(8) = f(-1) + a \quad a = ?$$

$$f(8) = f\left(\frac{-1}{v}\right) + \frac{a}{v} \rightarrow f(8) = (a+1)(v) = va + v$$

$$f(-1) = va - \varepsilon \rightarrow va + v = \frac{va - \varepsilon}{v} + \frac{a}{v} \rightarrow va + v = \frac{va - \varepsilon + a}{v}$$

$$\rightarrow 12a + 12 - \varepsilon a - \varepsilon \rightarrow 10a = -12 \rightarrow a = \frac{-12}{10}$$

$$f(u) = \sqrt{u} + \frac{1}{\sqrt{u}} + v$$

$$\rightarrow (\sqrt{v} - \sqrt{v} + \frac{1}{\sqrt{v} - \sqrt{v}} + v)(\sqrt{v} + \sqrt{v} + \frac{1}{\sqrt{v} + \sqrt{v}} + v)$$

$$f(v - \sqrt{v}) + f(v + \sqrt{v}) = ?$$

$$(\sqrt{v} - \sqrt{v} + \frac{1}{\sqrt{v} - \sqrt{v}} + v) + (\frac{1}{\sqrt{v} - \sqrt{v}} + \frac{1}{\sqrt{v} + \sqrt{v}}) + \varepsilon$$

$$A^2 = (v - \sqrt{v})(v + \sqrt{v}) + v(\sqrt{v} - \sqrt{v}) \rightarrow A = \sqrt{v}$$

$$\sqrt{v} + \sqrt{v} + \varepsilon = 2\sqrt{v} + \varepsilon$$

$$\frac{\sqrt{v} + \sqrt{v} + \varepsilon}{\sqrt{(v - \sqrt{v})(v + \sqrt{v})}} = \frac{A}{\sqrt{v}} = \sqrt{v}$$

$$vf(u) - vf(-u) = \varepsilon u^2 - u$$

$$\rightarrow \begin{cases} vf(u) - vf(-u) = \varepsilon u^2 - u \\ vf(u) - vf(-u) = \varepsilon u^2 - u \end{cases} \rightarrow vf(u) = \varepsilon u^2 - u + vf(-u)$$

$$f(u) = \varepsilon u^2 - \frac{u}{v} + vf(-u)$$

$$-\varepsilon u^2 + \frac{1}{v} u$$

$$vf(-u) = \varepsilon u^2 + u + vf(u) \rightarrow f(-u) = \varepsilon u^2 + \frac{u}{v} + vf(u)$$

$$f(u) = \varepsilon u^2 - \frac{u}{v} + \frac{1}{v}(\varepsilon u^2 + \frac{u}{v} + vf(u)) \rightarrow -\frac{d}{\varepsilon} f(u) = \varepsilon u^2 - \frac{1}{\varepsilon} u$$

$$f(u) = \varepsilon u^2 + \frac{1}{v} u$$

$$(u+v)f(u) - vf(u+v) = \varepsilon u^2 - mu + \varepsilon m - 1$$

$$f(0) = ?$$

$$f(0) \rightarrow vf(0) = \varepsilon m - 1 \rightarrow f(0) = \frac{\varepsilon m - 1}{v}$$

$$f(-1) \rightarrow vf(0) = 1 + \varepsilon m + \varepsilon m - 1 \quad vf(0) = 1 + m + \frac{\varepsilon m - 1}{v} \rightarrow vf(0) = 1 + m$$

$$\frac{1 + m}{v} = \frac{\varepsilon m - 1}{v} \rightarrow 1 + \varepsilon m = \varepsilon m - 1 \rightarrow m = \frac{1}{\varepsilon}$$

$$f(0) = 1 + \frac{m}{v}$$

$$a+b - / f(u) + f\left(\frac{1}{u}\right) = \varepsilon u^2 - 1 + u + v \quad / f(-1) = ?$$

$$f(u) + f\left(\frac{1}{u}\right) = a u^2 + b + a\left(\frac{1}{u}\right) + b = a u^2 + \frac{a}{u} + 2b$$

$$a u^2 + \frac{a}{u} + 2b \rightarrow \varepsilon u^2 - 1 + u + v \rightarrow \varepsilon u^2 - 1 + \frac{u}{v}$$

$$\frac{a}{u} = \frac{u}{v} \rightarrow a = v \quad a = v \quad 2b = -1 \rightarrow b = -\frac{1}{2}$$

$$\rightarrow f(u) = \varepsilon u^2 - 1 \rightarrow f(-1) = \varepsilon - 1$$